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A. PRONUNCIATION: 
   I. Find the word with the underlined part pronounced differently: 
1. A. bought 		B. daughter 		C. cough 		D. sight 
2. A. reaction 		B. achievement 	C. matchmaking         D. enthusiastic 
3. A. but 			B. bury 		C. nut 			D. young 
4. A. initiative 		B. confidence 		C. enthusiastic 	D. tension 
5. A. measure 		B. decision 		C. permission 		D. pleasure 
6. A. potential 		B. psychologist 	C. oppose 	            D. contribution 
7. A. dose 		B. chose 		C. close 		D. lose 
8. A. confidence 		B. achievement 	C. engage 		D. permission
9. A. position 		B. oasis 		C. desert 		D. resort 
10. A. achievement 	B. appearance 		C. enthusiastic 	D. initiative 

 II. Choose the word whose main stress is placed differently from the others. 
1. A. relation	B. argument	C. attachment	D. permission
2. A. constitution	      B. disrespectful	             C. sympathetic	        D. elongated
3. A. popular	B. beautiful	C. romantic	D. passionate
4. A. studious	      B. unite		             C. mature		        D. involve
5. A. decision	B. emotion	C. dependence	D. honesty
6. A. generational      B. interpersonal	             C. discrimination	        D. nationality 
7. A. necessary	B. sympathetic	C. voluntary	D. interesting
8. A. conflict (v)	B. appear	C. strengthen	D. record (v)
9. A. potential	B. confident	C. possible	D. personal
10. A. frustrating	       B. charity		             C. impairment	        D. infectious
II. VOCABULARY AND GRAMMAR
Choose the answer which best fit each space in each sentences.
1. When people live in a multi-generation family, there is often a__________.
A. generation gap	 B. extended family	C. household	D. footstep
      2. Jamie looked ________ in her new dress at her 20th birthday party.
             A. amazed	B. amazing	C. amaze	D. amazingly
3. Children living with both parents in a stable __________tend to be more confident and independent.
A. childcare	B. nuclear family	C. conflict	D. norm
      4.  It doesn't ________ right for parents to force their teenage children to share everything with them.
            A. taste	B. become	C. feel	D.	sound 
5. Some parents may try to impose their choices of university of career __________their children regardless of their children's preferences.
A. on	B. in	C. to	D. for
     6. Mai was so surprised when a friend of hers, who has left Vietnam for more than twenty years,                                   ______, appeared at her house.
            A. sudden	B. suddenly	C. depressing	D.	depressed
7. I can watch TV and play computer games on Sunday because I __________go to school on that day.
A. mustn’t	B. don’t have to	C. ought not to	D. haven’t to
     8. Teenagers tend to ________ their relationship a secret if their parents are too strict to them.
            A. keep	B. appear	C. stay	D. sound 
9. Despite the heat, we __________reach our destination in time.
A. will	B. are going to	C. won't	D. A&B are correct
     10. Having her song in the top-hit of last year, Ann Rich has become ________ as a well-known singer not only in England, but also all over the world.
            A. success	B. successful	C. successfully	D. succeeding
11. Since his bicycle __________stolen, he __________to school by bus.
A. has been/ goes		B. had been/ was going
C. was / has gone		D. was / had gone
     12. It is likely that children spend less time talking with or going out with their parents when they _________ older.
            A. become	B. grow	C. get	D. All are correct
13. You haven't eaten all day. You __________be hungry.	
A. can	B. must	C. could	D. ought to
14. Everyone __________take a holiday sometimes.	
A. had better	B. ought	C. shouldn't	D. should
     15.  We went to a five-star restaurant last night. All the dishes we ordered tasted as ________ 	as they look.
              A. good	B. well	C. better	D. best
16. You really __________make such a mountain out of a molehill!	
A. can't	B. won't	C. mightn't	D. shouldn't
      17. For the reason of personal safety, the informant wishes to ________ anonymous.
           A. seem	B. look	C. remain	D. feel
    18. What's wrong with your mother? She sounded very ________ when I talked with her last Saturday at the supermarket.
         A. sad	B. sadness	C. sadly	D. sadder
     19.  Ami has said goodbye to her boyfriend for many months, but it doesn't ________ she can forget their relationship.
       A. get	B. grow	C. seem	D. stay
     20. My letter __________yesterday, but it didn't.
      A. must have arrived 	B. may arrive 	C. should have arrived 	D. have arrived

PART B: READING
      Exercise 1: Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to each of the questions. 
In American, although most men still do less housework than their wives, that gap has been halved since the 1960s. Today, 41 per cent of couples say they share childcare equally, compared with 25 percent in 1985. Men's greater involvement at home is good for their relationships with their spouses, and also good for their children. Hands-on fathers make better parents than men who let their wives do all the nurturing and childcare. They raise sons who are more expressive and daughters who are more likely to do well in school - especially in math and science. 
In 1900, life expectancy in the United States was 47 years, and only four per cent of the population was 65 or older. Today, life expectancy is 76 years, and by 2025, it is estimated about 20 per cent of the U.S. population will be 65 or older. For the first time, a generation of adults must plan for the needs of both their parents and their children. Most Americans are responding with remarkable grace. One in four households gives the equivalent of a full day a week or more in unpaid care to an aging relative, and more than half say they expect to do so in the next 10 years. Older people are less likely to be impoverished or incapacitated by illness than in the past, and have more opportunity to develop a relationship with their grandchildren. 
Even some of the choices that worry people the most are turning out to be manageable. Divorce rates are likely to remain high, and in many cases marital breakdown causes serious problems for both adults and kids. Yet when parents minimize conflict, family bonds can be maintained. And many families are doing this. More non-custodial parents are staying in touch with their children. Child-support receipts are rising. A lower proportion of children from divorced families are exhibiting problems than in earlier decades. And stepfamilies are learning to maximize children's access to supportive adults rather than cutting them off from one side of the family.
1. Which of the following can be the most suitable heading for paragraph 1?
A. Men's involvement at home 
B. Benefits of men's involvement at home 
C. Drawbacks of men's involvement at home
D. Children studying math and science 
2. Nowadays, ____ of men help take care of children. 
A. 50% 		B. 41%		C. 25%		D. 20% 
3. According to the writer, old people in the USA ____.
A. are experiencing a shorter life expectancy 
B. receive less care from their children than they used to 
C. have better relationships with their children and grandchildren
D. may live in worst living conditions 
4. Which of the following is NOT true about divorce rates in the USA?
A. They will still be high. 
B. They can cause problems for both parents and children. 
C. More problems are caused by children from divorced families.
D. Children are encouraged to meet their separate parents. 
5. The word "equivalent” in paragraph 2 is closest in meaning to ____.
A. comparable 		B. opposed 		C. dissimilar		D . contrasting 
6. The word "manageable” in paragraph 3 is closest in meaning to ____.
A. difficult 		B. challenging 		C. demanding 		D. easy 
7. The word “this” in the paragraph 3 refers to ____.
A. getting divorced				B. minimizing conflict
C. causing problems to kids 			D. maintaining bonds 
8. According to the writer, the future of American family life can be ____.
A. positive 		B. negative 		C. unchanged 		D. unpredictable 
Exercise 2: Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to each of the questions. 
It has long been seen as a less romantic way of meeting Mr Right. But finding love over the Internet is a good way of meeting a marriage partner, research has showed. It found that one in five of those who have used dating sites to find their perfect partner have gone on to marry someone they met over the web. The study, by consumer group Which?, also revealed that more than half of the 1,504 people questioned had been on a date with someone they met in cyberspace. Sixty-two per cent agreed that it was easier to meet someone on a dating site than in other ways, such as in a pub or club, or through friends. At the same time, the under-35s were more likely to know someone who had been on a date or had a long-term relationship with someone they met through online dating. The survey also found that Match.com and Dating Direct were the most popular dating websites. 
Jess Ross, editor of which.co.uk, said: “Online dating is revolutionising the way people meet each other. Switching the computer on could be the first step to success.” According to industry surveys, more than 22 million people visited dating websites in 2007, and more than two million Britons are signed up to singles sites. Previous research has shown that couples who get to know each other via emails are more likely to see each other again after their first date. Two years ago, a study by Bath University revealed that those who met on dating websites were 94 per cent more likely to see each other after their first meeting than other couples. The researchers studied relationships formed on online dating website Match.com over a six-month period. They found that consummate love - described as a balance of passion, intimacy and commitment - was evident at around 12 months into a relationship. Of the 147 couples who took part in the study, 61 per cent said their relationships had high levels of these components. The researchers also found that men were more likely to find true love on the Internet than women. Some 67 per cent of men but just 57 per cent of women said they had experienced consummate love with an online partner.
Companionate love - a relationship with high levels of intimacy and commitment, but lower levels of passion - was the next most frequently experienced form of love, exhibited by 16 per cent of the study group. Dr Jeff Gavin, who led the team, said: “To date, there has been no systematic study of love in the context-of relationships formed via online dating sites. But with the popularity of online dating, it is imperative we understand the factors that influence satisfaction in relationships formed in this way.” Charlotte Harper, of Match.com, said: “We were thrilled to find so many of our former members have found love. It supports our belief that the Internet does in fact encourage old-fashioned courtship.”
1. According to the passage, online dating is seen as ____.
A. a modern romantic way of dating 		B. an economical way of dating 
C. the fastest way to find a soul mate		D. a great change in the way people meet 
2. The words “cyberspace” in paragraph 2 probably means ____.
A. dating agency	B. group dating 		C. online network		D. school club 
3. According to the passage, the number of people taking part in a study by Bath University was ____.
A. more than 1500	B. more than 750 		C. about 150		D. about 300 
4. The words “systematic" in paragraph 5 is closest in meaning to ____.
A. efficient 		B. fixed 		C. flexible		D. insecure 
5. Which of the following statements is NOT true according to the passage?
A. Consummate love has higher levels of passion than companionate love.
B. Less than 20 million people visited dating websites in 2007. 
C. Many members of match.com have found love.
D. Men are more likely to find their ideal partner online than women. 
6. The word “imperative” in paragraph 5 is closest in meaning to ____.
A. crucial 		B. minor 		C. optional		D. useless 
7. Which of the following statements is TRUE according to the passage?
A. Many couples got married within 12 months since their first meeting. 
B. Men were more likely to visit dating websites than women. 
C. The number of single people in Britons reduced owing to online dating. 
D. Many people had a long-term relationship through online dating.
8. Which of the following would serve as the best title for the passage?
A. Internet does in fact encourage old-fashioned courtship. 
B. Online dating - a good way of meeting people. 
C. Online dating is showed to help you find your perfect partner.
D. The revolution of online dating is alarming. 
Exercise 3: Read the text below and decide which answer A, B, C or D best fits each space.
Many parents believe that their children (1) __________be taught to read right after they have learnt to walk. This is right if the child shows a real interest but forcing a child could be counter-productive if she or he isn't ready. Wise parents will have a relaxed (2) __________ and take the lead from the child. What they should provide is a selection of (3) __________ toys, books, and other activities. Nowadays there is plenty of good (4) __________ available for young children, and of course, seeing plenty of books in use about house will also (5) __________them to read.
Of course, books are no longer the only source of stories and information. There is also a huge range of videos, which can (6) __________	and extend the pleasure a child finds in a book and are (7) __________ valuable in helping to increase vocabulary and concentration. Television gets a bad press as far as children are concerned, mainly because too many (8) __________too much time watching programmes not intended for their age group.
1. A. could not	B. must not	C. should	D. had to
2. A. decision	B. competition	C. pastime	D. attitude
3. A. bright	B. stimulating	C. adult	D. expensive
4. A. amusement	B. sense	C. game	D. produce
5. A. provide	B. encourage	C. provoke	D. produce
6. A. assist	B. watch	C. enjoy	D. reinforce
7. A. equally	B. perfectly	C. worthily	D. properly
8. A. pay	B. save	C. spend	D. devote

Exercise 4: Read the following passage and indicate the word or phrase that best fits each of the blanks.
Wearing fashionable clothes can be bad for you! This may surprise you, but it is said that some clothes can cause a (1) __________of problems. Do you find this (2) __________to believe? Well, researchers have discovered that following the latest fashion (3) __________can be unhealthy. For example, if you (4) __________a scarf or tie too tightly it increases your blood pressure. Tight jeans and trousers, short skirts and even sensible flat shoes may all cause (5) __________. Experts say that things we wear can also (6) __________to stomach problems, rashes, backache and painful feet. Yet how can we explain this? Very tight clothes can (7) __________	people moving naturally, and this is not good for you. If you wear trousers or skirts that are too tight around the waist, then your stomach does not have (8) __________to expand after you have eaten, and this can cause stomachache. Rashes can be caused by an allergic (9) __________ to synthetic material. And last, but not least - wearing shoes with high heels can lead to foot and back problems. Even practical shoes can cause backache if they don't (10) __________you properly.
1. A. variety	B. group	C. bundle	D. collection
2. A. puzzling	B. complicated	C. complex	D. difficult 
3. A. directions	B. trends	C. changes	D. cultures
4. A. fasten	B. fix	C. tie	D. install
5. A. complaints	B. conditions	C. illnesses	D. sickness
6. A. move	B. lead	C. go	D. grow
7. A. prevent	B. avoid	C. block	D. check
8. A. extent	B. area	C. place	D. room
9. A. reply	B. response	C. reaction	D. return
10. A. shape	B. match	C. suit	D. fit

PART C: WRITING
Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions. 
1. He spent his summer vacation in Da Lat. 
A. It is in Da Lat that he spent his summer vacation. 
B. It was in Da Lat that he spent his summer vacation. 
C. It is in Da Lat that he spends his summer vacation. 
D. It was in Da Lat where he spends his summer vacation. 
2.  Mai: “Why don't we ask Mr Brown for help?”
A. Mai asked why they did not ask Mr Brown for help. 
B. Mai begged Mr Brown for help to find the reason. 
C. Mai suggested that they should ask Mr Brown for help.
D. Mai wanted to know why Mr Brown did not help. 
3. Candidates all over the world took part in the competition with great enthusiasm. 
A. It is great enthusiasm that candidates all over the world took part in the competition. 
B. It was great enthusiasm that candidates all over the world took part in the competition. 
C. It was with great enthusiasm that candidates all over the world took part in the competition. 
D. It is with great enthusiasm which candidates all over the world take part the competition. 
4. He became successful as a professional writer at the age of 20.
A. He did not succeed as a professional writer until he was 20. 
B. He did not write professionally until he succeeded at the age of 20. 
C. He succeeded as a professional writer until he was 20.
D. He wrote professionally until he became successful at the age of 20. 
5. He gains impressive achievements at the age of 20. 
A. It is at the age of 20 that he gains impressive achievements. 
B. It was at the age of 20 that he gains impressive achievements. 
C. It is at the age of 20 that he gained impressive achievements. 
D. It was at the age of 20 that he gained impressive achievements. 
6. It is unlikely that he will come on time.
A. He is unlikely to come early. 		B. It is likely that he will not come too late. 
C. It looks as if he will come late.		D. It seems that he will come lately. 
7. Mary made a great contribution to her husband's success. 
A. It is Mary who made a great contribution to her husband's success. 
B. It was Mary who makes a great contribution to her husband's success. 
C. It was Mary who made a great contribution for her husband's success. 
D. It was Mary who made a great contribution to her husband's success. 
8. Most parents are willing to lend their ear to their children. 
A. They are their children that most parents are willing to lend their ear to. 
B. It is their children that most parents are willing to lend their ear to. 
C. They are their children that most parents are willing to lend their ear. 
D. It is their children that most parents are willing to lend their ear. 
9. I have to take the responsibility.
A. It's I am that responsible.			B. It is I who am responsible. 
C. It is me who am responsible. 		D. It's that me is responsible. 
10. Nobody in the class is as tall as Mike.
A. Everybody in the class is taller than Mike. 
B. Somebody in the class may be shorter than Mike. 
C. Mike is the tallest student in the class. 
D. Mike may be taller than most students in the class.
11. I haven't got enough money to buy a new car.
A. I need more money to buy a new car. 
B. I don't want to spend more money on a new car. 
C. A new car is not something I really need.
D. Money is not the most essential issue to buy a new car. 
12. I am really keen on playing sports.
A. I am a big fan of sports. 			B. Playing sports makes me sick.
C. I am not really into sports.			D. I can't stand sports. 
13. “I will come back home soon,” he said.
A. He advised to come back home soon. 
B. He offered to come back home soon. 
C. He promised to come back home soon.
D. He suggested that he should come back home soon. 
14. He prevented his close friend from telling the truth.
A. He forbade his close friend to tell the truth. 
B. He allowed his close friend to tell the truth. 
C. He ordered his close friend to tell the truth.
D. He paid his close friend to tell the truth. 
15. It was her story that made me cry. 
A. I was made crying by her story. 		B. I was made to cry by her story.
C. Her story made me crying. 		D. Her story made me to cry. 
Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions. 
1. My brother speaks too loud. It is really annoying.
A. My brother is speaking too loud. 	
B. My brother likes to speak too loud. 
C. My brother feels annoyed when he can't speak too loud.
D. My brother is always speaking too loud. 
2. There is always conflict between parents and children. However, they still should talk and share things with each other. 
A. Although there is always conflict between parents and children, they still should talk and share things with each other. 
B. There is always conflict between parents and children, so they still should talk and share things with each other. 
C. Unless there is always conflict between parents and children, they still should talk and share things with each other. 
D. Not only there is always conflict between parents and children, but they still should talk and share things with each other.
3. Your parents will help you with the problem. You should tell them the story.
A. Because your parents will help you with the problem, you should tell them the story.
B. Your parents will help you with the problem since you should tell them the story. 
C. If your parents will help you with the problem, you should tell them the story. 
D. Your parents will help you with the problem because you should tell them the story. 
4. Unemployment rate is high. This makes many children move back to their parents' house. 
A. Many children move back to their parents' house, which makes high unemployment rate. 
B. High unemployment rate forces many children to move back to their parents' house. 
C. Moving back to their parents' house suggests that the unemployment rate is high. 
D. It is necessary to move back to your parents' house if unemployment rate is high. 
5. She is an honest person. She is also a very friendly one.
A. She is an honest but friendly person. 
B. She is not only an honest but also a very friendly person. 
C. Though she is a honest person, she is friendly. 
D. Being honest is necessary to become friendly.
6. John lied to Linda. She didn't know the reason.
A. Linda didn't believe that John lied to her. 		B. Linda didn't know how John lied to her. 
C. Linda didn't know that John lied to her. 		D. Linda didn't know what John lied for.
7. Billy did not find his cat in the garden. He found it in the garage.
A. It was the garden and garage that Billy found his cat. 
B. It wasn't the garden that Billy did not find his cat. 
C. It wasn't the garden but the garage that Billy found his cat.
D. Billy could not find his cat anywhere, even in the garage. 
8. She is so attractive. Many boys run after her. 
A. So attractive is shę many boys that run after her.
B. So attractive is she that many boys run after her. 
C. So attractive she is that many boys run after her.
D. So that attractive she is many boys run after her. 
9. You can feel more at ease by taking part in group dating. It's the only way.
A. By taking part in group dating can you only feel more at ease. 
B. Only by taking part in group dating can you feel more at ease. 
C. The only way you is by taking part in group dating can feel more at ease.
D. The way you can feel more at ease is taking part in only group dating. 
10. Mary broke up with her boyfriend. She couldn't stand his complaining. 
A. Although Mary broke up with her boyfriend, she couldn't stand his complaining.
B. Mary broke up with her boyfriend because she couldn't stand his complaining.
C. Mary broke up with her boyfriend; however, she couldn't stand his complaining. 
D. Mary broke up with her boyfriend in case she couldn't stand his complaining.

PART D:  Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
1. We find it unattractive when dress flashily.
A. luxuriantly 		B. ostentatiously 	C. cheaply 		D. fashionably 
2. I am now reconciled with two of my estranged siblings - not just my older brother, but my sister, whom I hadn't spoken to for 17 years.
A. contactable 	B. harmonised 	C. opposed 		D. truthful 
3. He doesn't completely trust online partners, as they usually hide their real identity.
A. argument 		B. decision 		C. opinion		D. personality 
4. Sometimes, in order to get things done, you have to take the initiative. 
A. make the last decision		B. make important changes 					C. raise the first idea			D. sacrifice for others 
5. From the moment they met, he was completely attracted by her. 
A. accepted 		B. fascinated 		C. influenced		D. rejected 
6. She was so happy when he got down on bended knee and popped the question. 
A. asked her out				B. asked her to be on a date 
C. asked her to give him some money 	D. asked her to marry him 
7. Gary didn't always see eye to eye with his father, and this is where the honesty shows through.
A. agree with 		B. be truthful with 		C. look up to 		D. take after 
8. Some parents strongly oppose their children's romantic relationship. 
A. assist 		B. forbid		C. ignore		D. preserve 
9. When I was a child, my mother used to teach me table manners. 
A. etiquette 		B. rule			C. problem		D. norm 
10. Mary has a strong desire to make independent decisions.
A. dependent 		B. self-confident 	C. self-confessed 	D. self-determining 
PART E:  Mark the letter A, B, C, or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 
1. Most of us, even with every communication option possible, drift apart from friends. 
A. be independent	B. be associated 	C. be isolated		D. be separated 
2. He'll give Joe a red rose and a lovey-dovey poem he wrote. 
A. lovesick 		B. romantic		C. tragic		D. wild
3. Feel free to bring along your significant other to the party. 
A. dear 		B. foe			C. mate		D. spouse 
4. I look up to my father for my whole life.
A. depend on 		B. disapprove 		C. disrespect 		D. underestimate 
5. The situation seemed hopeless and desperation filled them both with anger.
A. pessimistic 		B. pointless 		C. promising 		D. useless 
6. My grandpa's point of view about marriage remains conservative.
A. progressive 	B. traditional 		C. retrogressive 		D. conventional 
7. Finally, I decide to follow in my father's footsteps to work in state-owned enterprise. 
A. private-owned	B. public limited 	C. privately-owned		D. government-owned 
8. My grandma usually takes care of us when my parents are away on business.
A. follows 		B. abandons 		C. concerns 			D. bothers 
9. We greatly respect my teacher for all of the best things that she brought to us.
A. look up to 		B. look forwards 	C. look for 			D. look down on 
10. I regretted not to buy those trendy shoes through lack of money.
A. shortage 		B. abundance 		C. scarcity 			D. deficiency
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